Day 19 Linear Functions Review Day 2

May 25, 2018
Use Ax+By+C =0 Warm Up
1. Find the equation of a line which has x-int =
2 and y-int = 4.

2. Find the equation of the line parallel to
2x-3y+21=0 that passes through (4,5).

3. Find the equation of a line with a slope
equal to -1/3 and passes through (3,-8).

4. Find the equation of a line that passes
through (4, 12) and (3, 7).

Use Ax+By+C =0 Y=mrtb

Y-y, =mlx-A)
1. Find the equation of a line which has x-int =
2 and y-int = 4.
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2. Find the equation of the line parallel to
2x-3y+21=0 that passes through (4,5).
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3. Find the equation of a line with a slope
equal to -1/3 and passes through (3,-8).
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4. Find the equation of a line that passes
through (4, 12) and (3, 7).
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Review Time...

1 ) ~ Review - Coordinate Geometry.pdf

2) Text: Read Skills Summary p. 387
Practice Questions p. 388 - 390
Practice Test p. 391
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| REVIEW EXERUISE 3F |

.ance between each pair of points.

- 1. Find the
(a) (7,11).(5,2)
(c)
(e)

5 -1), (-5, 2)
&) (-3,~1),(~4,~2) i il
5 : i ine segment joining the
2. Find the midpoint of the line seg
ints.
gy (b) (3, 1), (7,11)
(a) (8, 6). (2, 8) (d) (—2,-5), (-8.7)
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Review Exercise ¥ | ‘
1. (2) /85 b 22 () 62
@13 (o) V2 (f) V109
2. (a) (5,4) (b} (5,6) © (2,~1)
(d) (-5, 1) (@) (63, -41)  (§) (2,-23) 5
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(-2, 0), (4, —6)

(b} (—3,4),(~5,8)
(d) (8,—7); (8, —4)
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1. State the point-slope form of the equation of the line through the
given point and having the given slope.
(@) (3,2); m=4 (b) (1,4); m=6
(c) (—2,5); m=1 (d) (=7,-2); m=5
(e) (—3.-4); m=-2 (f) (6,0); m=-4

2. State the slope y-intercept form of the equation of the line with the
- given slope m and y-intercept b.

(a) m=2; b=3 (¢) m=5;b=-3 (e) m=-%b=0
(b) m=-4;b=5 (d) m=3; b=-7 (f) m=0;b=-6
3. State the slope and y-intercept of the following linear functions.
(a) y=3x-7 (b) y=—}x+5

(¢) y=-5x—-4 (d) y=7x

2x~"1

(o) y==% (f) y+7=2x

(9) y+3x=4 (h) 2x—3=y

(i) Bx+y—-2=0 () 7x=3+y

(k) 4x—y=5 () 3x+2y=5
(M) x+3y=-2 (n) 6x—y—4=01

4. Determine an equation of the line through the given point and
having the given slope. Express the equation in the form
' Ax+By+C=0. '
(b) (~3,4); m=5
{d) (-1,-2); m=7
{f) (0,-5); m=1
(9) (-1,6);.m=0 (h) (4, -3); no slope
(i) (~6,4); m=—] () =7,-1); m=3
5. Write the equation of the linear function through (—4, 5) with slope
(a) 2 (b) ~4 () 1.5 (d) ~0.5 (e) —2.5
6. Write the equation of the line having slope % and containing the
point
(a) (0,0) (b) (=3,2)  (¢) (=3,5) (d) (5,-3) - (e) (0,-6)
7. Determine an equation of the line through the given point and
having the given slope. Express the equation in the form y=mx-+b
and determine two othet points on the line.
(a) (1,2); m=3 (b) (~1,-1); m==2
(c) (3,0); m=2 (d) (4, -2); m=-05
(e) (0,-3); m=1 (f) (-5,-6); m=0
(g) (-3,4); m=2 (h) (10,20); m=02
8. Determine an equation of the line through the given points. Ex-
press the equation in the form Ax+By+C=0.""
(a) (1,2),(2,4) © . (b) (5,6),(7,8)

(@) (2,1); m=3
(c) (4,-5); m=-1
(e) (5,0);m=-6
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() 42.3), (=2, -1) (d) {~1,4), (5, 1)
o o ) (-6,4),(-1,~2)

(g) (10,8),(—3,1) (h) (2,5),(7,-4)

(i) (3,—1),(~8,-5) Q) (~6,7), (1,~3)
(m)(=3.8,1.2), (1.2, 2.7) (n) {~4.5, 8),{-1.5,—4)
(o) {~4,0), (0, ~8) (p) (4,6), (4, —2)

(Q) (—2, _3)1 (4, —3) (r) (1.2' 1‘2)1 (*3.6_, _3.6) N
r 1;:"5;{ehrrr”1fr;e;-a-n' é'quation of the line whose x- and y-intercepts are
respectively ;
(a) 3 and 6 (c) 2 and =5 (e) —8 and -
(b) =2 and 4 _(d) -1 and -6 (f) 3and -
13. Determine an equation of the line through (-3, 4) and having ths
same y-intercept as 2x—3y =6. .

14. Determine an equation of the line through (=3, —2) and having th:
same slope as the graph of 2x+3y=7. i . .

15. Determine an equation of the line having the same x-intercept a
4x—3y—12=0 and the same slope as the graph of 2x+5y=7.

16. Determine an equation of the line through (—1,3) and having it
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x-intercept equal to its y-intercept. -
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